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HW  PG 603 # 6,7,22 
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Inaright triangle, the sum of the squares of the lengths of the legs is equal to the square of the
‘ypotenuse. In standard formula form:

a+b?





TWO FACTS ABOUT THE HYPOTENUSE:

1.

2.

[image: image2.png]Exercise #1: Tf ¢ repesents the length of the hypotenuse of a right triangle and @ and b represent the
lengths of the legs, solve for the length of the missing side in each case.
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Exercise #2   Given a Right Triangle Find the missing Side.
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3. Andre runs diagonally across a rectangular field that has a length of 40 yards and a width of 30    yards, as shown in the diagram below.
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What is the length of the diagonal, in yards, that Andre runs?

	1)
	50

	2)
	60

	3)
	70

	4)
	80


4.  Nancy’s rectangular garden is represented in the diagram below.
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If a diagonal walkway crosses her garden, what is its length, in feet?

	1)
	17

	2)
	22

	3)
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	4)
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